

GENERATING RELATIONS OF GAUSS HYPERGEOMETRIC FUNCTION

K.K. Gautam and D.V. Gupta

Department of Mathematics
 College of Engineering, Roorkee, Haridwar (Uttranachal), India

(Received: June 30, 2006)

Abstract: By making use of familiar Laplace and inverse Laplace transform technique, we obtain generating functions involving Gauss and Kampé de Fériet hypergeometric functions. Certain special cases are also considered.

Keywords and Phrases: Generalized hypergeometric functions, Kampé de Fériet hypergeometric functions

2000 AMS Subject Classification: 33C70

1. Introduction

Let $(\lambda)_n$ denote the Pochhammer symbol

$$(\lambda)_n = \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)} = \begin{cases} 1, & n = 0, \\ \lambda(\lambda + 1) \cdots (\lambda + n - 1), & (n \in N). \end{cases} \quad (1.1)$$

and ${}_pF_q$ denote the generalized hypergeometric function

$${}_pF_q \left[\begin{matrix} a_1, \dots, a_p & ; \\ b_1, \dots, b_q & ; \end{matrix} \middle| z \right] = \sum_{n=0}^{\infty} \frac{(a_1)_n \cdots (a_p)_n}{(b_1)_n \cdots (b_q)_n} \frac{z^n}{n!} \quad (1.2)$$

with p numerator and q denominator parameters.

By Kampé de Fériet's hypergeometric functions of two variables, we mean

$$F_{q;s;v}^{p;r;u} \left[\begin{matrix} \alpha_1, \dots, \alpha_p & ; \rho_1, \dots, \rho_r & ; \lambda_1, \dots, \lambda_u & ; \\ & & & x, y \end{matrix} \middle| \beta_1, \dots, \beta_q & ; \sigma_1, \dots, \sigma_s & ; \mu_1, \dots, \mu_v & ; \right]$$

$$= \sum_{m,n=0}^{\infty} \frac{(\alpha_1)_{m+n} \cdots (\alpha_p)_{m+n} (\rho_1)_m \cdots (\rho_r)_m (\lambda_1)_n \cdots (\lambda_u)_n}{(\beta_1)_{m+n} \cdots (\beta_q)_{m+n} (\sigma_1)_m \cdots (\sigma_s)_m (\mu_1)_n \cdots (\mu_v)_n} \frac{x^m}{m!} \frac{y^n}{n!} \quad (1.3)$$

where $p+r < q+s+1$, $p+u < q+v+1$, $|x| < \infty$, $|y| < \infty$ and $p+r = q+s+1$, $p+u = q+v+1$,

$$\begin{cases} |x|^{1/(p-q)} + |y|^{1/(p-q)} < 1, & \text{if } p > q, \\ \max\{|x|, |y|\} < 1, & \text{if } p \leq q. \end{cases} \tag{1.4}$$

The purpose of this paper is to obtain the following generating functions by using results of Bromberg ([1]; p.15(2.1) and (2.2)) as a main working tools

$$\sum_{r=0}^{\infty} \frac{(\rho)_r (\alpha)_r (d_D)_r z^r}{(\beta)_r (e_E)_r r!} {}_1F_1[1-\rho; 1-\rho-r; t] = e^t F_{E+1;0;0}^{D+1;1} \left[\begin{matrix} \alpha, (d_D) : \rho; _ ; \\ \beta, (e_E) : _ ; _ ; \end{matrix} ; z, -zt \right] \tag{1.5}$$

$$\begin{aligned} F_{E+1;0;0}^{D+1;1} & \left[\begin{matrix} \alpha, (d_D) : \lambda; \rho ; \\ \beta, (e_E) : _ ; _ ; \end{matrix} ; zt, z \right] \\ & = F_{E+1;1;0}^{D+2;1;0} \left[\begin{matrix} \alpha, \rho + \lambda, (d_D) : \lambda ; _ ; \\ \beta, (e_E) : \rho + \lambda ; _ ; \end{matrix} ; (t-1)z, z \right] \end{aligned} \tag{1.6}$$

where for the brevity (d_D) denotes the array of D parameters d_1, d_2, \dots, d_D with similar interpretation for (e_E) .

2. Generating Functions

We have ([1], p.15(2.1) and (2.2))

$$\sum_{n=0}^{\infty} {}_2F_1[\rho - n, \alpha; \beta; z] \frac{t^n}{n!} = e^t \Phi_1[\alpha, \rho; \beta; z - zt] \quad |z| < 1, \quad |zt| < \infty \tag{2.1}$$

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\alpha)_n (\lambda)_n}{(\beta)_n n!} {}_2F_1[\alpha + n, \rho; \beta + n; z] z^n t^n \\ & = F_{1;1;0}^{2;1;0} \left[\begin{matrix} \alpha, \rho + \lambda : \lambda ; _ ; \\ \beta : \rho + \lambda ; _ ; \end{matrix} ; - (1-t)z, z \right], \quad |t| < |z|^{-1}. \end{aligned} \tag{2.2}$$

On replacing z by zu in (2.1), multiplying both sides $u^{\lambda-1}$ and taking Laplace transform, we get

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} \int_0^{\infty} {}_2F_1[\rho - n, \alpha; \beta; zu] u^{\lambda-1} e^{-pu} du = e^t \int_0^{\infty} u^{\lambda-1} e^{-pu} \Phi_1[\alpha, \rho; \beta; zu - ztu] du. \tag{2.3}$$

Again expanding ${}_2F_1$ and Φ_1 in series integrating term by term and using $\Gamma(\alpha - n) = \frac{(-1)^n \Gamma(\alpha)}{(1 - \alpha)_n}$, we get

$$\sum_{r=0}^{\infty} \frac{(\rho)_r (\alpha)_r (\lambda)_r z^r}{(\beta)_r r! p^r} {}_1F_1[1 - \rho; 1 - \rho - r; t] = e^t F_{1:0;0}^{2:1;0} \left[\begin{matrix} \alpha, \lambda : \rho; - & ; \\ & \frac{z}{p}, -\frac{zt}{p} \\ \beta & : -; - & ; \end{matrix} \right]. \tag{2.4}$$

On the other hand, if we take inverse Laplace transform of (2.4), we get

$$\sum_{r=0}^{\infty} \frac{(\rho)_r (\alpha)_r (\lambda)_r z^r}{(\beta)_r (\mu)_r r! p^r} {}_1F_1[1 - \rho; 1 - \rho - r; t] = e^t F_{2:0;0}^{2:1;0} \left[\begin{matrix} \alpha, \lambda : \rho; - & ; \\ & \frac{z}{p}, -\frac{zt}{p} \\ \beta, u : -; - & ; \end{matrix} \right]. \tag{2.5}$$

Continuing this process it is not difficult to obtain (1.5) by induction.

Similarly, applying the same Laplace transform technique to (2.2), we get the transformation

$$F_{1:0;0}^{2:1;1} \left[\begin{matrix} \sigma, \alpha : \lambda; \rho & ; \\ & \frac{zt}{p}, \frac{z}{p} \\ \beta & : -; - & ; \end{matrix} \right] = F_{1:1;0}^{3:1;0} \left[\begin{matrix} \alpha, \rho + \lambda, \sigma : \lambda & ; - & ; \\ & \frac{(t-1)z}{p}, \frac{z}{p} \\ \beta & : \rho + \lambda & ; - & ; \end{matrix} \right]. \tag{2.6}$$

Now starting again from (2.2) and making use of Laplace and inverse Laplace transform, we can prove (1.6) by induction.

3. Special Cases

For $t = 1$ and $\alpha = \beta$ (1.6) reduces to a known result ([10]; p.28(32))

$$F_{E:0;0}^{D:1;1} \left[\begin{matrix} (d_D) : \lambda; \rho & ; \\ & z, z \\ (e_E) : -; - & ; \end{matrix} \right] = {}_{D+1}F_E[(d_D), \lambda + \rho; (e_E); z] \tag{3.1}$$

whereas for $t = 0$ it yields another known result ([10]; p.29(45))

$$F_{E:1;0}^{D:1;0} \left[\begin{matrix} (d_D) : \lambda; - & ; \\ & -z, z \\ (e_E) : \rho; - & ; \end{matrix} \right] = {}_{D+1}F_{E+1}[(d_D), \rho - \lambda; (e_E), \rho; z] \tag{3.2}$$

References

- [1] Bromberg, S., *Algunos resultados sobre funciones generadoras*, Scientia, Series A: Mathematical Sciences **5** (1992-93), 13–20.
- [2] Erdélyi, A., Magnus, W., Oberhettinger, F. and Tricomi, F.G., *Tables of Integral Transforms*, Vols.I and II., McGraw-Hill, New York, Toronto, London, 1951.
- [3] Erdélyi, A., Magnus, W., Oberhettinger, F. and Tricomi, F.G., *Higher Transcendental Functions*, Vol.I., McGraw-Hill, New York, 1953.
- [4] Kalla, S.L., *Integrals of generalized Jacobi functions*, Proc. Nat. Acad. Sci. India **58** (A) (1) (1988), 123–128.
- [5] Lebedev, N.N., *Special Functions and their Applications*, Dover Publications Inc., New York, 1972.
- [6] Oldham, K.B. and Spanier, J., *The Fractional Calculus*, Academic Press, New York, 1974.
- [7] Prudnikov, A.P., Brychkov, Yu.A. and Marichev, O.I., *Integrals and Series*, Vol. III, Nauka, Moscow, 1983.
- [8] Rainville, E.D., *Special Functions*, Macmillan Co., New York, 1960.
- [9] Srivastava, H.M., *The use of functional calculus and other operational techniques in obtaining generating functions*, In: Fractional Calculus and its Applications, International Conference Proceeding, College of Engineering, Nihon University, Tokyo, 1990.
- [10] Srivastava, H.M. and Karlsson, P.W., *Multiple Gaussian Hypergeometric Series*, (Ellis Horwood Limited, Chichester) and John Wiley and Sons, New York, 1985.
- [11] Watson, G.N., *Theory of Bessel Functions*, Cambridge University Press, Cambridge, 1966.